KB SN & — BRI

2
=
S
2
1

aF 4 3A

A A E AR A RS

KA B SES T



1. RESEHESL

2. B4

4. aL

5. #

P

i

B =

KA B K IAEATOKU 2 — > BRI

FKH E B HOE

(H) FKH RIS T RE R A AR (BEFD 5B B e S 1C)
(ZE) Rk IR LASH] = FEMT R G AR5 1C)
(5)
(&)
(5)
(&)
(H)
(&)
(H)
()
TR AT 154
JH AR (e 0] & 0.88k m
MR SRR 7.6 S
ERER T FEMIERE 0.88k m

B TR AN w 7 AhS— RFFEE oM

B4 LERET  SA T AV S— FERE 3H

by TRkt FEARETERR  44%

BT ES

H Af  4F 48 200 ~ T 4AF  5HF

1A

200 ( 270 Hf#)



mom N R E P- 1 H
AL R4 |$J<EH HEhEE MEENSEKU X — B
T f& £ i M B BN ¥ & &  F i 2
e
JH R AR (] = 1 804, 568
JH R AR ) [ km 0.88
HiEZ ] 2 = 1 1,384,712
SEAMEIE 1,200 B 7.6
KNG =, 1 407, 190
LS BIEIERL - B = 1
LR AR 4 83
AEF - B - fEint &N 1 365, 735
Hh ERE ASEE - B - AR 2 1
H S MR~ 0D AT S A S TS EN 1 123, 445
HIF X D JEEAZ AEAE 1 % I
JEAT AR (AR T 0 7 F &) BT B 103
A Y= = 1 2,314, 237
e = 1 765, 130
witEE  LHERR Adtihit | A 103
WitEE ~SIaHe ey AH 83
B R
FEANER G Y 1 1,571, 151
TEESER R Bl = 1
JEHERET xEtEtmE km 0.88
TEHERET FEXERK km 0.88
TE MR ET BRI VERR (B —7iA]) km 0.88
TE RS HHEKERE km 0. 88
EHERE HEHSE GE—WimE) km 0.88
BEHT A
EtT At = 1 396, 500
BHERET REHTAE = 1
B8 TR ah
Bt TE% 3 iy 1 3,507, 089
Bt Ta% 3t A v 7 A3 — L i%Et S 2
i Ta% et SA T H v 3— hkEE 3 3
BFFHY TEREt  SEMIXIMERRSE FHEK TEEMEER 4 4
AR - EEERE
HITER - EER =, 1 378, 662
bR Tk et BERME AR (R > 7 23— R gEh) = 1
At - B - 15IAE = 1
Z O = 1 2,947, 936
— RS = 1 4,733, 645
it N 1 19, 700, 000




